I|:I"IE ®

=71 USS220T
B¢ 2019/3/26

Al an i =&

For USS221T/USS222T

HaEFR  BK01-024-00)USS220.

IN)L— 4E3T A—H—
v ORESE R &% EJRRE e §§E FEIN
No. = FAfiE
1-1 [USM22 T8 — 4y b RU22 M22x26 USM22 7945-YFy b US22 M22*26 1 18,150
1-1 |USM20 T2 —J7y k US22 M20x23 USM20 7945-Y49 b US22 M20*23 1 18,150
1-1 |USM16 TR —")4y k US22 M16x19 USM16 795-Yr9 b US220 M16 1 18,150
1-2  |US22T 4 >+ —SET US22 T22 SET US22T {y1-Y4y b US22 T22 1 10,510
1-2  US20T 4 >F+—SET US22 T20 SET US20T {v1-Yry b US22 T20 1 10,510
1-2 US16T 4 >+ —SET US22 T16 SET US16T 1v1-Yryb US22 T16 1 10,510
2 E848 AEFB@Aw4 X FRR-68 E848 At° noyyx FRR68%M 1 750
3 Y46423 IDxHB—EL 7.5x59 Y46423 15" 195-t" Yy AD65 1 3,600
4 Y46425 2T 4 4.7x0.3x80 Y46425 27° Y4 S59 1 600
5 Y46309 IoxH b/ T Y46309 15" 154/7° (12) 1 4,000
6 Y45309 NATYTIEDH I L M5x12 4k Y45309 6h97+9% b4y M5*12F i+ 1 90
7 Y44370 NATUTARIL B M8x20 Y44370 64197194 Wb M8*20 5 90
8 Y46401 Bt 7w 1 8x28x19.5 Y46401 5" 7" 9y1 V74 4 5,730
9 Y57025 Bt 7w a 8x36x17.5 Y57025 % Y7 yya1 V69 1 13,530
10 1Y46408 XXHr—RHh/N— Y46408 % vr-ahn" - 1 61,200
11 Y46293 Twa 26x61.8x2 Y46293 7° y¥1 U150 1 5,130
12  Y46295 A4 F—Y45y FRILE RU220 Y46295 1=y Mg (12) 1 13,160
13 |Y46301 Jw a 73x80x12 Y46301 25AM)YH° U151 1 16,760
14  Y46300 A4 8 —FIJLFXY 1.25x51x61.5 Y46300 15—t ¥ C35 1 35,930
15 |E627 £HEk 7/32" E627 i -l 7/32 AF-I 35 20
16 Y46297 E=#4 2%+ 1.25x13x34.2 Y46297 t° Z1v¥ ¥ B127 1 10,840
17 EGM217 Y E> 10x37 EGM217 ¥ ¥t° Y 10*37 P12 4 1,360
18 |E827 —Z— KL —2 KT101412 E827 =-} Mr-Y" KT101412 8 1,750
19 EGM215 74 FILX 1.25x18x24 EGM215 74} I+ ¥ A20 4 2,620
20 |EGM219 T w1 60x67.5x4 EGM219 7" y¥1 U23 1 2,250
21 EGM214 — 40x24.5A EGM214 - W8 1 17,960
22 |E156 ATR BTy v AS2542 E156 27AM7yyy AS2542 1 620
23 1Y46303 Jw <1 58xB7x7 Y46303 7" y¥1 U152 1 8,640
24 1Y46305 74 FILXA 2x39x16 Y46305 74} M4 ¥ A37 1 31,980
25 1Y46307 Bt T w1 60x74x7 Y46307 %" 7" yya1 V73 3 10,950
26 1Y46403 T a 20x30x5 Y46403 7° y¥1 U153 4 1,980
27 |E955 AR RT vy AS2035 E955 27A+7yyx AS2035 12 550
28 1Y43293 —— FILr— KT202410 Y43293 =-} Wr-¥" KT202410 8 2,510
29 1Y46400 74 FIL¥Y 2x20x10 Y46400 74} W% ¥ A35 8 7,870
30 Y46405 BBt 7w o 8x28x41.2 Y46405 4" 7" yy1 V75 4 8,930
31 Y42885 AT A KT AS3047 Y42885 25AM 1" % AS3047 3 440
32 Y42927 ——RK)La—5KR71) 245 K30x35x11SY42927 -} Ir-Y" K303511S 2 1,310
33 Y46306 74 FIL¥Y 2x39x11 Y46306 74+ ¥ ¥ 2 29,000
34 Y57073 Bt 7w 1 85x36x39 Y57073 % V7 yya 1 13,530
35 1Y46409 74 FILEXY 2x39x17 Y46409 74} I ¥ A38 1 29,000
36 |Y46416 FH—R USS220 Y46416 % ¥h-2 1 107,400
37 |EGM236 AEQTD YW ¥ 44x1.5x4 EGM236 At° n7yYx E7 1 1,440
38 |EB6903 A7) 245 6903 EB6903 A" 7Yv4" 6903 1 1,050
39 |E654 AEB@Awv4 R RR-206 E654 At° noy9x RR2064A 1 270
40 EGM234 JUYHS a3 F 4R EGM234 79937 1) E6 1 7,530
41 E345 ASRARZ—FKIRTFTYLY E345 23ab=-} ) NTB1528 1 870
42 Y46413 A4 28 —FILXY 1x49x56 Y46413 {V5-1I%" ¥ C18 1 43,580
43 |E650 XY EY 6x135 E650 % ¥t° ¥ 6*13.5 P1 3 600
44 | E341 —— KL —2 KT697 E341 =-} -y KT697 3 750
45 |E648 74 FILEXY 1x18x7 E648 711 I ¥ Al 3 1,150
46 EGM229 r—< 30.5x7.2 EGM229 -y W1 1 15,110
47 EGM227 E=74>%F 1x11x18.5A EGM227 t° =1y ¥ B21 1 9,580
48 EGM228 Twia 21x43x2.5 EGM228 7" y¥1 U24 1 1,980
49 EGM226 Y E> 8x16.5 EGM226 " ¥t" v 8*16.5 P11 4 1,400
50 |EGM225 —— KL —< KT81110 EGM225 -} Wr-%" KT81110 4 1,290
51 EGM224 7414 FILEXY 1x18x10B EGM224 74} I% ¥ A10 4 2,640
52 1Y46410 4 —<30.5x10.2D Y46410 #-%° W82 1 16,760
53 1Y46007 A7) 25 6205 Y46007 A" 7YY9° 6205 1 1,160
54 EGM653 NATNYTARIL b M4x12 EGM653 6157194 Wb M4*12 4 20
55 |EM057 NG DU hN— EMO57 Ny % hiv - E18 1 4,000
56 EM255 Iz HAR—TIH5y b+ EM255 13" 15%-7" 379} E19 1 10,250
57 |EGH445 AEB@AQwvw4 R FRR-45 EGH445 At nnyhx FRR45 1 670
58 EGM241 EZZ4 2% 1x44x36 EGM241 t" V% ¥ B4 1 24,670




59 |EB6900 7124 6900 EB6900 A" 7Y¥%° 6900 1 980
60 Y44830 FF iUt E~RNa L M4x10 Y44830 +77° 3%Y° M4*10 4 20
61 |Y46419 NS U4 RU220 TYPE Y46419 nvyy' 9 Q23 1 90,000
62 E666 ARy FR)L b M5x24 E666 A4y} & M E10 2 200
63 |E673 EF+v kM5 E673 Etyt M5 2 70
64 |EB6801 7124 6801 EB6801 A" 7Yv%" 6801 1 1,050
65 |524-1012 |CHiL&His 12845 524-1012 }47 ¥ 93 STW12 1 70
66 EGM254 |~ HJLFH 0.8x38x11 EGM254 AJhl% v F13 1 4,670
67 528-0410 |F1T7¥— P-A4x4x10 528-0410 A{a9%- 4*4*10 1 550
68 |EB6901 7124 6901 EB6901 A" 7Yv%" 6901 2 1,050
69 E676 EZ#4 U ARXR)LFEY 1x14x34.5A E676 £ Z1UA A" JF ¥ D1 1 11,000
70 |[EGM260 |~ AJLF 0.8x35x10.7 EGM260 AJhlE v F14 1 4,560
72 EGM262 |REBAw4% R FRR-24 EGM262 At° nO0yyz FRR24 1 270
73 EGM259 |74 FILE> ND36 EGM259 74} It" ¥(J3) 1 1,160
74 |EGM263 | Jw i a 12x19x5 EGM263 7 y¥1 U182 1 2,150
75 |[EGM267 754w b ND30TYPE EGM267 7" 4yb X9 1 18,640
76 EGR782 |ARAUIAREZ 2RIL b M5x12 EGR782 651971+ & 49Ut b M5*12 1 150
77 Y44025 NATFUTARIL b M4x20 Y44025 61971956 Wb M4*20 2 20
78 1Y44030 INATUTARIL B M4x30 Y44030 6597195 Wb M4*30 2 20
79 Y07503 E£—4 T-6100SL 100V Y07503 -5 T6100SL 100V USS221TH 1 28,710
79 |Y07504 E—4 T-6200SL 200V Y07504 -4 T6200SL 200V USS222TH 1 28,710
79-1 [EGMO3M CHs1t&His 9sh A EGMO3M M7 Ch 5 ¥ 5199 1 50
79-2 |[EB629DD |R7 1) >4 629LLU EB629DD A" 7)v%° 629DD 1 1,240
79-3 |Y55023 R7Y25 T4 kT6000 Y55023 A" 7Yv4° 7" 3y b T6000 1 2,240
79-4 |Y55014 7 X F 2 7 #A5L T6000SL 100V Y55014 73¥17 T6100SL 100V USS221TH 1 10,930
79-4 |Y55015 7 X F 2 7 #8351 T6000SL 200V Y55015 73¥17 T6200SL 200V USS222TH 1 10,930
79-5 |EB627ZZ |RTF7 4 627727 EB627ZZ A" 7)V)° 627722 1 1,240
79-6 |Y55019 ZF—%4 T6000SL 100V Y55019 A7-% T6100SL 100V USS221TH 1 6,530
79-6 |Y55021 A F—%4 T6000SL 200V Y55021 27-4% T6200SL 200V USS222TH 1 6,530
79-7 Y44873 +FRAF RN L MAx65(EFRES) Y44873 +14° 34y M4*65 2 55
79-7 Y44308 I$taEE M4 Y44308 1" 44" 4 M4 2 20
79-8 Y55028 RF— kLR /SA ZHAIL T6000 () 100V Y55028 A7-MAN 44 53457 T6100SR 100V |USS221TH 1 7,800
79-8 |Y55029 AF— LR /A FH3I T6000 (A4 L > ) 200V |Y55029 AT-MAN 14" 9357 T6200SR 200V | USS222T F 1 7,800
79-12 Y55026 $EIEEES T6000 Y55026 " YIu4 " % T6000 2 90
79-13 |GM295 Hh—R> TS5 87 GM295 #-# ¥7° 3V ST000WR 2 240
79-14 Y55024 75 %%y 7 T6000 Y55024 7" 5%%%y7° T6000 2 220
79-15 E8100 JLE E8100 1° 4tY S6000 1 50




80 |E6116 9w 3>d.L S6000 E6116 Jy¥3va LE15 1 670
81 Y44740 T+F7Fm/hia L M4x30 Y44740 +%73%%° M4*30 2 20
82 |522-5350 | RAIUTARIL b M5x35 522-5350 659714 hb M5*35 4 55
83 1Y44760 +F7UTI/ e L M4x22 Y44760 +4#734Y° M4*22 1 20
84 |EM113R 51) w JHhi\— 220R TYPE EM113R 4" )y7" in" - T3 1 7,380
87 1Y44810 +F RGN L M35x6(E 5 EITES) Y44810 +74° 12 M3.5%6 2 20
87 1Y44329 S EfTEE M3.5 Y44329 YN 799% M3.5 2 20
88 1Y44840 TFERG AP C MAxA(ESNEAES) Y44840 +7A° 1% M4*4 1 20
88 1Y44330 ShE{TES M4 Y44330 Yt Tyvy M4 1 20
89 521-4061 |+FIftE~uva U MAx6(&4eEfHEESR) 521-4061 +FA" 1% M4*6 SWY+ 2 55
90 Y44831 TFIRUTERN C MAA0(E S EAESR) Y44831 +3A 239 M4*10 Vin WYE 2 20
91 1Y28920 a—F#&9 5> F(£E8) S6000 Y28920 1~} t¥ 437" 6000 2 200
92 |E3116 a5 Y PAB104 E3116 107 V% PAB104 1 270
93 1Y28340 EE B MR ER T Y28340 AM{4vt9y” 4y JST2-SD 1 70
94 Y28505 R WEMERHT AN FV2-M3(JST) 100v/200v | Y28505 7yF4y9vy FV2-M3(32° 1R) 1 130
95 |EMO0106 d— K 7—<E£ S6000 EM0106 -} 7-3% 4" % 6000 1 40
96 |[EM21092 — K7—7< S6000-1.25 EM21092 3-} 7-¥ 6000 1 670
97 |E374 O— F#E#H3T 100Vx3x1.25A E374 1-} Y 4347 100V*3*1.25 Y1 USS221TH 1 2,800
97 |E6126 O— F#E#H3T 200Vx3x1.25A E6126 1-} +Y 9357 200V*3*1.25A Y2 USS222T 1 2,800
97 1Y30910 7 —ARBEEEmRFAR2-4 Y30910 7yF494vY 2-4 1 50
98 Y28505 R WEMERHT AN FV2-M3(JST) 100v/200v | Y28505 7yF¥h9vy FV2-M3(33 10) 1 130
99 - BEmRTELTEY FEA HRRFELTEY FEA 1 -
100 Y46218 IS Ryx>TF545 100V Y46218 £ 37" 35" 100V PP-00 USS221TH 1 1,760
100 E6127 7354 ME2546 200V E6127 7° 397 ME2546 200V #§ 924 USS222TH 1 1,070
101 EMO92R J'1) w7 220R TYPE EMO92R 4" 1)y7" Ri1 1 7,380
102 Y46420 FYRX bk vsRA Y46420 ¥ ¥abyn” A(12) 1 13,840
103 Y46421 F¥YRX bkv/<B Y46421 ¥ ¥abyn’ B(12) 1 13,730
104 Y44305 ANAFYTIAIL k M5x12 Y44305 659719% #5% Wb M5*12 4 55
105 Y54671 +—LFL— bk 100V Y54671 #-47" -} USS221 USS221TH 1 710
105 Y54670 +—ALFL— bk 200V Y54670 #-47° b-} USS222 USS222TH 1 710
106 |[MCM66 A BRI —XR 274x583x120 Mr-2 274*583*120A M6 1 25,090
107 Y08580 ZERTINIL(—EMER) Y08580 7431937° W E35 97" ¥ USS222TH 1 50
108 E6130 EHEaxro 42 200V E6130 195 ME2628 200V # 94 1 1,360
109 |PGSD-M2 ZA4 + X K354 /83— PGSD-M2 N 957 Yy7" A5ET =8 40N - (H) 1 700
200 |RKTSO1 FUA—RA v FHXy b RKTSO01 M#™ -2{yF+y b 1 1,670
201 |- BERTELTEYEEA BERETLTEYFEEA 1 -
202 |E3122 kU H—RA yF SP115C-2-Z2(7 2V %) E3122 M -2{9F SP115C-2 1 2,050
203 - BEmRFELTEY FEA HRmRTELTEY FEA 1 -
204 BmIRTELTEY FEA HRmRTELTEY FEA 1 -
205 - BEmRFELTEY FEA HRmRTELTEY FEA 1 -
206 BEmRTELTEY FEA HRRTELTEY FEA 1 -




